Q.2a. If
$$r^{2} = x^{2} + y^{2} + z^{2}$$
 and $V = r^{m}$, prove that
 $V_{xx} + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy} + V_{zz} = m(m + 1) r^{m^{2}}$
 $A = (A + V_{yy$

(b) if nyz=8, U = Snyz $u+\partial y+Uz^{-}$ $32+n^{2}y+2ny^{2}$ $\frac{324}{32} + \frac{403}{32} + \frac{403}{32} + \frac{4033}{32} + \frac{1033}{32} + \frac{1$ $T = \frac{3^{2} y}{3^{2} r}^{2} - \frac{-50\chi y^{2}}{(32+3^{2} y+3)^{2}} + \frac{80y(32-3^{2} y)(33y+3y^{2})}{(32+3^{2} y+3)^{2} y^{2}} = \frac{-8t\chi U_{k} y}{96\chi g_{6}} = -\frac{5}{36} U_{k} \frac{y_{2}y}{y_{2}}$ $S = \frac{744}{5000} = \frac{1280 - 8001^{2}y}{(32 + 3^{2}y + 300y^{2})^{2}} = \frac{3440y(32 - 3^{2}y)(37 + 400y)}{(32 + 3^{2}y + 300y^{2})^{3}} = -\frac{5}{36} + \frac{1}{329} +$

a. Evaluate by changing order of integration of $\int \int \int (x+y) dx dy$ Q.3 Kefimy integram " · J=0, y=3, u=1, N=54-9 shaded figure. To change order of integratin, be Aville area by stops drawn prallet adis B(-200) Mr. storp menes fram 21=1 to 21=2, Keeping its ends en y=0 and y= 4-22. So changed boder of integriting No

b. Find the volume of the tetrahedron bounded by the coordinate planes and the plane $\frac{x}{a} + \frac{y}{b} + \frac{z}{c} = 1$ (b) OABE is the total edoor bounded by Coordinate planes and helplane 2+2+2=21 which meets Chood haves adds at A(9,0,0), B(0,10,0), c(0,0,c). Divide Cl0,0,2 Hervalum into lect angular parallelopipeds of Valume SusySz, To Cover Whole Valume Z, mons for Z20 to Z=((- 1/2 - 1/2), y for yze, h,GO J=b(1-m), n=0 ~ n= a. Henervalume is fiven by p(1-2) ((1-2-3) chaydz a b(+2) - (1

Q.4 a. Show that if $\lambda \neq -5$, the system of equations, 3x - y + 4z = 3, $\mathbf{x} + 2\mathbf{y} - 3\mathbf{z} = -2,$ $6\mathbf{x} + 5\mathbf{y} + \lambda \mathbf{z} = -3,$ have a unique solution. If $\lambda = -5$, then show that the equations are consistent. Find the solutions in each case. 3 3 2 4 mill eghrave Crisis 5 alm



Q.5 a. Develop Newton – Raphson formula for finding \sqrt{N} , where N is a real number. Use it to find $\sqrt{41}$. Correct to 3 decimal places.

 β 5 15 1 det n = JN, i $n^2 = N$ or $f(n) = n^2 - N = 0$ By Newton-Raphsminuetted, $(n+1)^k$ iteration of f(n) = 0 is β ven by $N_{n+1} = N_n - \frac{f(n_N)}{f'(n_n)} = N_n - \frac{N_n^2 - N}{2N_m} = \frac{N_n^2 + N}{2N_m}$ Hence X n+1= 1 [Nn+ Nn Rot 441 his howen b and 7. Let 152 appoint. out = $\frac{1}{2} \frac{1}{2} \left[\frac{6}{5} + \frac{41}{55} \right] = 6400055$ 213 = 2 [6.40385+ 41] Here Lever Value of JAI Correct + 3 decimal places is 6.403.

b.Use Runge – Kutta method of order four for find y at x = 0.2 given that $\frac{dy}{dx} = \frac{y^2 - x^2}{y^2 + x^2}, y(0) = 1$ **taking h = 0.2**

(b) Here $f(m_3y) = \frac{y^2 - m^2}{y^2 + m^2}$, $m_0 = 0$, $y_0 = 1$, w = 0.2 $K_1 = w f(m_0, y_0) = (0.2) \frac{1 - 0}{1 + 0^2} = 0.2$ $K_{2} = hift_{0} + \frac{h}{2} \cdot \frac{y_{0} + \frac{h}{2}}{2} = (02) \frac{(1 \cdot 0^{2} - (\cdot 1))^{2}}{(1 \cdot 0)^{2} + (\cdot 1)^{2}} = 0.1967$ $K_{2} = hift_{0} + \frac{h}{2} \cdot \frac{y_{0} + \frac{h}{2}}{2} = 0.2 \times \frac{(1 \cdot 0983)^{2} - (\cdot 1)^{2}}{(1 \cdot 0983)^{2} + (\cdot 1)^{2}} = 0.1967$ $(1 \cdot 0983)^{2} + (\cdot 1)^{2}$ $K_{q} = W f(n_{0} + \frac{1}{8} - \frac{1}{3} + \frac{1}{3}) = 2\chi \frac{(1 \cdot 1967)^{2} - (n_{2})^{2}}{(1 \cdot 1967)^{2} + (n_{2})^{2}} = 0.1891$ $K = \frac{K_{1} + 2K_{3} + 2K_{3} + \frac{1}{6}}{6} = 0.1966$ Hence HO2) = Jotk = 1.196 a. Solve the differential equation $(1+x+y)^2 \frac{dy}{dx} = 1$ Q.6 6ig Put 1+2+y= to in 1+duy at as duy at -1. Substituting it in given egn $t^2 \left(\frac{dt}{du} - 1\right) = 1$ or $t^2 \frac{dt}{du} = 1 + t^2$ or the at = dre or the at = dr dulegrating t- ten t= n+c Aerec HArty - fair (HARty) = Nte or Hy = terr (1+Ph+b) + C

Show that the family of parabolas $x^2 = ua (y + a)$ is self orthogonal b. (b) Since N = ha(y+a), i 2n = 4h dy eliminoting a', weger N = 2x (y+ x) $\chi = \frac{2\chi}{dy} \left(y + \frac{\chi}{2} \frac{\chi}{dy} \right)$ $\mathcal{X}\left(\frac{dw}{dw}\right)^2 = 2\gamma \frac{dw}{dw} + 2\ell$ () is diff. equ. of fiven system. To diff eqt. of onthofmal system, hopes and by - dry will, So & Hegh of Orthogmal System is $m(-\frac{dy}{dy})^2 = 2y(-\frac{dy}{dy}) + \chi$ x = - 2y dy + nowy now = 2your +n Disfame m(1). Hence Bothogonal Jaysten is same as given Hence jun system is self cothagenal

b. Use method of variation of parameters to solve
$$\frac{d^2y}{dx^2} - 2\frac{dy}{dx} + y = \frac{e^2}{x}$$

 $7(b)$ A E. If first eq. 5 we can $+1 = e^{-1}$ is $m = 1$ of
 $1 = e^{2x}$ $e^{-2x} = (q+q_m)e^{2x} = qe^{2x} + q_m e^{2x}$
 $Te find here have by here and y for each m there and the solution $y = 1$ and $y = qe^{2x}$. RHS = $x_2 = e^{2x}$
Wornski find $W = \begin{bmatrix} 41 & 41 \\ -31 & 42 \end{bmatrix} = \begin{bmatrix} e^{2x} & -2e^{2x} \\ e^{2x} & -2e^{2x} \end{bmatrix} = e^{2x}$
 $1 = e^{2x} = \frac{1}{3} \begin{bmatrix} 41 & 42 \\ -31 & 42 \end{bmatrix} = \begin{bmatrix} e^{2x} & e^{2x} \\ e^{2x} & e^{2x} \end{bmatrix} = e^{2x}$
 $1 = -\frac{1}{3} \begin{bmatrix} \frac{4}{3} & \frac{4}{3} \\ \frac{5}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{4}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{2}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{2}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{2}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{2}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{2}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{2}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{2}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{2}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{2}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{2}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{2}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{2}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{2}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{2}{3} \end{bmatrix} = \frac{1}{3} \begin{bmatrix} \frac{2}{3} & \frac{1}{3} \\ \frac{2}{$$

Substituting these in given Diff. egin, we get 22 m(m-1)Gon + (m+ m q1x + (m+z)(m+1)q n+---] -> [m Gozi -1 + (m+1)Giz"+ (m+2) Gz" --] + (+) (Gout Gin gazh e--]= The cial equis obtained by equed my & zero the coefficient forwar on oweger $2m(m-1)q_0 - mq_0 + q_0 = 0$ ie $m = \frac{1}{2} (:: q_0 \neq 0)$ equating to zero the coeffits of sonce to sime followers of 21, we get $2(m+1)mq_1 - (m+1)q_1 + q_1 = 0$:: $q_1 = 0$ (: $m = 1_{2}$) $2(m+2)(m+1)a_2 - (m+2)a_2 + a_2 - a_0 = 0 \quad \text{or } q_2 = \frac{a_0}{(m+2)(2m+1)+1} = \frac{a_0}{(m+1)(2m+3)}$ $2(m+3)(m+2)G_3 - (m+3)G_3 + G_3 - G_1 = 0 \text{ or } G_3 = \frac{G_1}{(m+3)(2m+3)(1)} = \frac{G_1}{(m+2)(2m+3)}$ $2 (an+b) (m+3) a_4 - (m+b) a_4 + a_4 - a_{2=0} a_5 a_4 = \frac{a_2}{(m+3)(2m+1)} + \frac{a_2}{(m+3)(2m+1)} + \frac{a_4}{(m+3)(2m+1)} + \frac{a_4}{$ when $m = \frac{1}{2}, q_2 = \frac{q_0}{2.3}$, $q_4 = \frac{q_0}{2.4.3.7}$, $q_6 = \frac{q_0}{2.4.6, 3.7.11}$ de $\frac{1}{2} + \frac{1}{2} + \frac{1}$ $\int_{2}^{2} = Q_{1} \chi^{2} + \frac{Q_{1}}{2.3} \chi^{5} + \frac{Q_{1}}{2.4} \chi^{9} + \frac{Q_{1}}{2.4} \chi^{9} + \dots = Q_{4} \overline{\mu} \left(1 + \frac{\chi^{2}}{2.3} + \frac{\chi^{4}}{2.4} + \frac{\chi^{4}}{2$ Aenel Complete Sel in $d = G d_1 + G d_2 = G d_1 + \frac{n^2}{2x5} + \frac{n^4}{2x4x5xq}$ + Cuta (1+12 + 14 e-...)

b. Show that
$$\int_{a}^{b} (x-a)^{m} (b-x)^{a} dx = (b-a)^{m+a+1} \beta(m+1,n+1)$$

$$(b) \quad Therefore + \int_{a}^{b} (b-x)^{a} (b-x)^{a} dx + (b-a) = t, \quad sd_{n-1} = t, \quad$$

b. Show that : $\frac{d}{dx}\left\{J_n^2(x) + J_{n+1}^2(x)\right\} = 2\left\{\frac{n}{x}J_n^2(x) - \frac{n+1}{x}J_{n+1}^2(x)\right\}$ (61 TIME =2

Textbooks

- 1. Higher Engineering Mathematics, Dr. B.S.Grewal, 40th edition 2007, Khanna publishers, Delhi
- 2. Text book of Engineering Mathematics, NP Bali and Manish Goyal, 7th Edition 2007, Laxmi Publication (P) Ltd.